T@B 320

PRODUCT ASSEMBLY PROCESS (PAP)

.

Install AC

Tools Required to perform task:
Drill with #2 square drive bit

PLEASANT VALLEY TEARDROP TRAILERS ‘

Components required: MR
8 - #10 x 1-1/4" screws 6/15/2020
7 - #10 x 1 drill point screws BT
1 - zinc 3/16" (#10) x 1 washer 6/15/2020

32-3/4" x 1 aluminum angle

Tool needed

Parts needed

Bend 32" aluminum piece in a 45° angle

Remove blue strap, hoses, thermostat wire, and power cord

Remove black bracket

Page 1 of 2



mailto:T@B%20320
mailto:T@B%20320
mailto:T@B%20320
mailto:T@B%20320
mailto:T@B%20320
mailto:T@B%20320

Fasten blue strap with 10 x 1™ drill point screw with washer

Remove the two black bracts

Fasten the two black brackets using #10 x 1" drill point screw at each end
and #10 x 1-1/4" screws in the rest of the holes

1-1/4" screws

Replace AC and tighten blue strap

Fasten aluminum angle

1-1/4" screws

Install hoses, thermostat wire, and power cord

Page 2 of 2




